INdex NO oo, . Scienvce | Time * One Hour

¢ Answer all questiens.

e In each of the questions 1 to 40, pick onc of the alternatives 1, 2, 3, 4 which you consider as
currect ormost appropriate

o Nugloa eross () on the maml;ez corresponding to vour choice in the answer shcet provided

1. AMonosacchandeis

1. Fruciose 2. Maltos 3. Lactose 4. cellulose
2. AVeetor gquantity is

1. Distance 2. Speed 3. Mass 4. Weight
3. Notan elementin lipidis

e 2 H AN 4.4

% Following is a part of periodic table. There are not standard symbols. Atomic numbers are given

!
3 11 5.1 6 —— S ey
11 12 153 | 14
v
| 20
£

Selectthe corrcet statements regarding x, vy & 2

L X isinthe lV group 2. Zbelongsto 1" period
2. Xl grovup and 2 period 4, ¥Ybelongs to 4" period
B per & i

5. Theorganelle without a membrane . e
1. Nucleas 2. Ribosome 3. golgr complex 4. mitechondrion

6. The dngmm of atom whichhas 2, 8, 2 electronic configuration.

% - 2 / -5 ﬁf_,::;\ oA /’;Z-I""\
;{ (1;\ \ o) ({Gy
‘*}/ = L
‘--.“_._/ \‘::;/ .
7. Ahornizontal force of 100N applied on mass of 250 g Caleulate the acceleration of'it
1L100ms™ 2.150ms™ 3.200ms™ 4. 400ms™
& The veloacity time graph of uniform acceleration is.
{, Yms) 2. vips) 3. vime) 4. vims?)
i 7z :
J_ / \\ ............... Al
!_/ L My i
s Lo ST i (s) Lo s
9. Selectthe corect vitamin and deficiency symptom
Vitamin Deticiency
1. A Internal bleeding
2. t2 Night blindness
& 6 weakening of gum
4. 3 Delays blood clotiing
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10. Theare3 places of getting readin gofweight ofan object using a spring balance

16.

20.

[
e

A - intop of mountain

B - insealevel

C - mabotlemofthe mine
The comrectstatement is,

L. the heighest weiphtis intop of mountain 2. place has heighest weight
3. valueis difforentin 3 places 4.C has lowest weight

- Thenumber ofproton in atom which atomic number is & and mass numberis 17

1.8 249 317 4.25

- Chemical propertics of magnesinm arc given below

A. react with cold water and form magnesiuny oxide,
heated in sicamand form ma gnestum oxide.

C. bum inairand form magnesinm oxide.

Thecorreetstatements are

LA 2B 3C 4 AYB.C
Incorrect statement ahout enzymeis,
1. Inerease the rate of chemical reaction 2. Produced by organisms
3. Activate in any temperature 4. Made by protein

. Thestrongest base is, : :
1. Na,0 2. ALD, 3P0, 4,80,

- Apreperty of carbohydrate is
L. All carbohydrates dissolve in water 2. Smallestunit is monosaccharide
3. Theratio between Cand Nig2:1 4. Galactose is a disaccharide
Propertics of hydrogen boron and carbon respectively are
1. metals, non- metals , metaltoids 2. non—metals , metalloids 01 - inetaly
3. nobal gas , metailoids , pon - metals 4. metalloids . nobal gas non -metals

- The correct staiement about the mation of faliin galruit fromatree,

1. has auniform veloity, 2. decelerate and become rest :
3. has gravitational force and move 4. has alowest velocity before toneh the land

- The element which show yellow and brown patches inleaves as deficiency symptoms,

1. 7inc 2. Calcium 3. potassium 4. phosperous

- Dynamic frictional force applyies in

I before starting mofion
3. justmoving

. when moving
. after become rost

£ b

Neota method of reducing friction s
Lapplying oil to chain
3. usc bearing to vehicles

applying grease :
. use rubber pads to brakes

PR

- Non-living organeile ina cell iy,

I.Cell wall 2. Mitochondrion 3. Plasm membrane 4, Nucleus

. Acharacteristicof an element belongs to 1 group in petiodic table is

1. ametal 2. has properties of metalloids
3. anonmetal atroom femperature 4. has 2 clectros in oatermost shell

. Needed elementfor producing thyroxin is

1. sedium ~ Z.magnesium 3 Tron 4. lodine

- Strandard representation of Deuterium is

Lk 2.H 3 L 4. H

- Ar oBjectwitht rest fal s verticall y during 3 seconds. Find the hei ghtofan objectwhich fallsdown.

1.3m 2.10m TS G - 4790
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CThe vitamin solublein wateris
[. A 2. 3. B 4. K A
. Anexample lorequilibrivmof force g, ] g,
1. Objectinuniformvelocity 2. Objectmoving with aceeleration '
3. Objectmoving with deceleration 4, falling of an object under gravitational force
. TheSulphate ofx 18 XSO,valency ofx is,
il 2.2 3.4 4.6
CAtomic numbers of WXY & Z respectively ate 2, 6, 10 and 20. which of the above element has the heighest
1" fonization encray. i . ,
. W R Y 4.2
elocity time graph which shows the falling of an object freely.
W v, ' v Y
! . |
] 2 A 4.
\\ i /
e =t / ______ t
b
Nota property of magnesium is, '
. sonoreus sound 2. good clectrical conductor
3. menlebility and ductility 4. brittleness
. Therype of carbohydrate that stores in animal Biver s,
1.cellulose Z.starch 3.glycogen 4.galaotose
). The displacement traversed by a certain object is shown the table below
T ime U e [ L The correct statement is ,
) 2l bnl o . 1 ; o = . i .
o | I e 1. The objectisaccelerated 2. Object has uniforn velocity
dl-‘-‘l}if{lj{:’)}‘““f g g e s 3 Obiect has deceleration 4. Object comes to slarling point

1A child goes 10 m to east [rom A, and goes 5 1w, to north then move 14 m to Westagain and stop what is the

displacement ol the child 7
I.5m 2. 10m 3.120m 4.25m

. An object moves 8 ms” in uniforme velocity for minutes along a straight live. Find the displacement at the

end of the movement _
I.4m 2.10m 3.120m 4. 25m

Y

. The mass of an objectis 4 kg and it is moving a veloeity 02 ms™ . The momentum is

[ 2kgms 2. 6kgms’ 3.8 kgray” 416kgms”

. Givenbellows are 3 statements regarding second law of Newton

A - lorceequals to multiplication of mass and acceleration
B - forcemversely proportional to acceleration
¢ - massdirectly proportonal 1o acceleration

Correct glatements are,
1 2.B IAC 4.8.C
Given below is a velocity - time graph of the mofion of an object with mass of 5 kg, Find the unbalanced torce
exerted on anobject during 55-10% wims!
1.ON 20N : 3.2N 4. 4N
. Incorrect statement of an clement which has 14 i atomic number [ / il
] 1Y f i . ; T Ualemey e k’ : : : B 1
_ ﬁ[.“‘lis{}}ll\/ Zroup ‘-_,\cls.mg.y!?c’l T s
3. Helps to produce carbohydrates 4. [tiga lquid atmoom iemperature
. The component helpsto prevent constipation is ., :
I Vimmins 2 Flbrous - o 3 Mincrals, 4. Proteins
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*  Apswer Part A useing given spaces.
°  Selectany 3 question from partB.

Part - A (Structured essayv;

i, Shove d,c,mam shows 2 cyelist whe s niding a bicycle on & gravel road,

1. Which biological process provides energy for cvclist to riding his bicycle

;.i-e'ge_j.--__.:- *§- t{.\vﬂeﬂ

e XA e e
ber, Wrile another use of rubber

vizi, What is the force applied on bicycle to prevent if from slip on road.
x  Write a strategy that used on tyres to increasing above force
% In which place of the bicycle the process given above is affected adversly.

L e R L L L T e B R g T R e PP e T P P PR e

Write two strategies can be used to minimize the disadvantage af that place.
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2. A._Given below are some steps not in order that are followed by student to. observ onion peel through
microscope :
peel offa thin laver of onion :
- covered with a cover ship it R TS
place the omonpeel ovaghassshide — :
Keep onionpeeinrto watch glass contain water

[ O o

bt ¢

Write correct order should be followed by the student using relevant leiters

1. Write the expected aim whuch followed by step'd
iti. Whatisthe advantage of covered the tissue wih cover

V. Wiite two differences between omion peel cell

Draw a rough sketch ofonicnpeel canbe obs

res winch perfonm sped

Compilete the table given below el

[

Orgamelle

i a. Golgt body

broien iy b i Swnthesis of protein !

¢. Mitocandris ; i

11, State the substance innucleus which carries inheriisd ¢

iii. Write two substancesin celi sap

iv. Write two factors include in cell theory.
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Givenbelow is a stranderd symbol of element

16

X

8
{x 1 not arveal symbol)

1.  Write mass number and atomic numiber ot above element

ii. Write number of neutrons and protozn

ti. Draw askeichof arrangement of eiecis

iX. Write the period and group which element B belongs




4. Givenbelowis astratagethatused to draw water from well. The sound is produced while using it

\ dkg

1

L 10 Y

i whetisthe adv amtage of mini mizing the frictional force an 7z

v o Calenlate the %cccrn*mann‘ bucket which falls down dizc 1o broken o ofits siring,

snesrth while the backer the earth




Givenbelow are compounds which composed of living matter

Protein vitamin . Lip;ds

Water Nucleic acids ~Carbol ]vdrates

I Classify , biciogical molecules from above list

ii. Write two elements can be found in every biological molecule

ui. Carbohydraies var be classified in to three types.

2. write the type of carbohydrate that starch and sucrose belongs
b. you have provided two boiling tubes, equal amount of glucose zmd se solutions

Benedict sui Hot water bath and a burner. Explain how to ideniify g? ucose and sucrose
separatly o — e

tv. Which of the absve molecule conmbmm to produce anti bodiﬁs

V. Write two specific ;"*"“cmo of water

vi. Write two bioiogical molecule which stored genetic information in virs.

T
Y i,

Vit

Given below are two dcﬂw,nw diseases of plants

Dieath of apical
chiorosis in leavas
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vwest 17 ionization energy
urat wrs ofelement W

¥
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Wnte two ciemens with equal valency numbers

State the element with lowest electro negativity ameng given elements

The diagram depicts the reaction between a metal and water

11,
1v.

vi.

<vii,

o metal

(TS )T P | == T T water

What is the name of the element
Write down the Stranded symbol of above element

What is the reason for storing above element in parapin wax

What is the physical property of that élement which help te float on water
Write two observations of burning magnesium in air

Write the formula of compound which formed during the above teaction
Write two uses of magnesium
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A. An object moves 10 m along a straight path to east from initial point during 20 seconds. And it stopped
during 5 seconds. Again it moves to West within another 10 seconds and reach to the initial point.

[
ol

1.
iv.

Vi,

B. Belowd

Prepare a datatable for above information

1
Time :

displacement

Draw adisplacement time graph related to the data table

dispacernent m

= Tirne {5}

Find the totai displacement o an obig
Find thetotal « =1~Lam"‘ trav Crse
Lc‘liLdmu'LﬁlC T b
What:

§ . 3
& \ = time {8}
' 40\
N
H ;'\
§ ™~

; )
What is the initial velocity of an object
Fmdthetotal distance travrersed FomA
The graph showsa itieig::r Liue explam
Write ane\cmpi—c Toraboy
What s the ingtance t

{a)

Defineacell division
Name two type of cell division given above
State two difference between above methods of cell division

~ Write two instance which division a occurs

State a type cell division which contributes to maintance of the constant number
Explainwhat is known as cell growth



B Abaﬂ-:\on fllled W Ith agag on childs hdndlelﬁbdbk“d and rises up vortically in the @it

o2

1. WWrite downthe ne
1. Writeaction and rea TEEPE m«ely in ab{wc instance

i11, Find the forceexeisd - halloon with 50 g whichaccelerates at 2ms”

iv. Find the velocity cithe atmaximum height it canbe reached

v, Whatis the name of the force amcted onballoon to goes dJown

vi, Writethe physical property of balloon surface whichhelp tor elise the gasinside it.

9. Diagram shows anarrangement of some elements in periodic tabie
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